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CHEMISTRY

In which of the following palr each

- member produces the same gas ?

(A) K,KO,
(B) Na, Na,O,
(C) Ca, CaH,

- (D) Ba,Ba0O,

The volume strength of 1.5 N H,0,
solution is

(A) 4.8 litres

(B) 5.2litres

(C) 8.4 litres

(D) 8.8 litres

In which of the followmg, the ratio of
the sizes of cation to anion is smallest ?

(A) NaCl
(B) KCI
(©) MgCl,

(D) CaF,

A solid ‘x’ on heating gives CO, and a
residue. The residue with H,O form ‘y’.

'On passing an excess of CO, through ‘y’

in H20 a clear solution of ‘z’ is

obtained. Onboﬂlng ‘2’, ‘x’ is reformed.
‘xis:

(A) Ca(HC03)2
(B) CaCO,
(C) Na,CO,
(D) K,CO,

Which is the most basic oxide ?
(A) ZnO

(B) MgO

© ALO;

@) N,0;

6.

8.

10.

11.

AL 0, beoomes anhydrous AICI, upon
heating

(A) with NaCl

(B) withdry Cl,+C

(©) with CI,

(D) with dry HCI gas

Which of the following is not formed ?
(A) NCl;

(B) AsF;

(©) SbCls

(D) PF;

The product of NH, - N'H2 + H,0,

Ca?*
—_ s

A) 0,
®) H,
(© NH,
@) N,

The color of liquid O, is

(A) pale yellow

(B) pale blue

(C) green

(D) red -

The basicity of H;PO, is
A1

(B) 2
© 3
(D) None of these

CrOj; dissolves in aqueous NaOH to give

(8) Cr,0F

B) Cror
(C) Cr(OH),
(D) Cr(OH),
BIMCS



w

N

ﬁnﬁﬂﬁmg’nﬁﬁﬁwwﬁw
FIAEAFAE?

4) K,KO,
(B) Na, Na,0,
(C) Ca,CaH,
(D) Ba, BaO,

1.5 N H,,0, faerrt 9t s v
(A) 4.87RT
B) 52X
(C) 84T
(D) 8.8 %X

TSR T ST T HH ¥ 2
(A) NaCl

(B) KCI

(© MgCl,

(D) CaF,

T 3 x° BT FA T CO, T T

I YT ¥ | SO T R SRR Wy’
3 ¥ |y’ F e we o sufi & CO,
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(A) Ca(HCO,),
~ (B) CaCO,
(C)- Na,CO,
(D) K,CO,

B TR AR S ¥ ?
_(A) ZnO

- (B) MgO

(©) ALO,

(D) N,05

BIMCS
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ALO, T8 we T = T AlCI3
LS S

(A) NaCl % 94

®) THCL+CHT

(€) CL,%9™

(D) TFHCIFTT

e R = T 2
(A) NCIg x
(B) AsFs -

(©) SbCly

®) PFs

NH, - NH2+H202-(-:-->a;r3m% -
(A) O,
(B) H,
(© NH,
® N,

MO, F T E ¥

- (A) T b

(B) eI Hten
(C) &
(D) @&

H,PO, 1 Rt &
@A 1

®B) 2
©) 3
(D) T T i =

O FET NaoNH O TatasT 2ot &
\.cl.\l3 VT ivawviir i ‘3\""\ e AN LI T

(A) Cr,0
®) Croy
(©) Cr(OH), .
(D) Cr(OH),



12.

13.

14.

15.

16.

The following ion in its aqueous solution
is colorless :

(At. no. : Sc = 21, Fe = 26, Ti = 22,
Mn = 25) t

( A) Sc3"'
(B) Fe?*
© T+
(D) Mn2+

The omdat:on number of Ni in
Ni(C,0,), #is

Ni(C,0
(A) 3
(B) 4
© 2
D) 6

Which of the following is an optically
active compound ?

(A) 1-butanol

(B) 1-propanol
(C) 2-chlorobutane
(D) 4-hydroxy heptane

In sodium fusion test of organic
compounds, N is converted to

(A) NaNH,
(B) NaCN
(C) NaNO,

(D) NaNO,

Which one of the following is called
inorganic graphite ?

A) B
®) B,C
(©) B,H,
(D) BN

17.

18.

[y
N2

21.

Glass +HF — 2
(A) SiF,

(B) H,SiFg

(©) H,Si0,
(D) Na,AlF,

HowmanyCluralCarethcremB-D- .
(+) — glucose ?

(A) 5
(B) 6

™ 2

A I

®) 4

L% 72 SS90 PRy R =
Y iuel I.B uic a g

(A) CI-CH,-CH,- “on

. :Oj'/m

-_ .Iﬂ
I

S OH
. NO;

OH

IO

“\CH,
This compound forms a sodium salt
upon reacting with NaNH,
(A)_ C,H,
(B) CH;NH,
(©) CgHg -
(D) CHg
What is the electrophile when RCI +
AICl, are used in Friedel Craft reaction ?
A) crt
B) AlCI,
(© R*

. (D) AlCI,

BIMCS
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13.

14.
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16.
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Ni # [Ni(C,0,);1* # aiferdieror s
¥

(A) 3
®) 4

© 2
®) 6

e 3§ & @ e |teg w2
(A) 15

(B) 1-SfeT

(C) 2R '

(D) 4-FTEgiet ¥

mﬁﬁwﬁﬁﬁ%%@%mmqﬂawﬁn
T Rt & S

(A) NaNH,
(B) NaCN

(C) NaNoO,
- (D) NaNO,

et 3 R/ N e AT e ¥ 2
A B
(B) B,C

(C) B,Hg
(D) BN

BIMCS
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19.

- 21

- O Sy - B ]
« MAM T ALAL F .

(A) SiFy

®) H,SiFs
© HSi0,
(D) - NayAlFg

B-D - (+) — Tt # et R C €7
A) 5 | o

B) 6

©) 3

(D) 4

P TETH A& 2
(A) CI-CH,-CH,-OH

® (0]

~

 N_OH
NO, .
OH
) /\O:[ o
CHy

qzd\ﬁmNaNHz%wmﬁﬁmmﬁw
mﬁsmw%m% |

@) Gy

(B) CH;NH,
© CgHg
@) CH,

WISt I AR F RCL + AICL &
IET FR W W e
NS oL R AN

A crt
®) AlCI,
© R+.
@) AICI;



27.

Nylon-6 is made from

(A) Isoprene

(B) Adipic acid -
(C) Caprolactam
(D) Styrene

Which polymer has different type of
bond between monomers from the other _

_ three ?

(A) Cellulose

- (B) Wool

(©) Silk

(D) Nylon

In Buna-S, S stands for
(A) Sulphur

. «(B) Soft

(C) Styrene
(D) Sodium

Which one is incorrect name ?
(A) Propyne

(B) .Bllt-2-yne

(C) Pent-3-yne

(D) But-1-yne

| Lewisite, a war gas, is nmde by reacting

CH = CH with *

" (A) HCN

(B) HCI

(O) AsCl

®) O,

Theproductof CHECH—-E;——) _

is
(A) CI:[2=CHCI
(B) CH,CH(OOCCH,),

(C) CH,CHO

-(D) CH3C}12CHO

28.

29.

31.

32.

(C2H5)4Pb is an example of
(A) Negative Catalyst -
(B) Positive Catalyst

(C) Solvent

(D) Fuel

Which metal is used as a part of catalyst
in Fischer — Tropsch method ? '

(A) Mn

- (B) Co

(C) Fe.
(D) Pt

\a&ryf b
The octane number of this alkane is 100 :
(A) 2,2, 4-Trimethylpeatane

(B) Hexane

(C) Heptane

- (D) Butane

=

Identify organometalic compound(s).
(A) CH;ONa

(B) C,H,SNa
(C) CH,Mgl

(D) Al

Wh;ch one is called Westrosol ?
(A) CCI 4

(B) CCl,=CHCI

(©) CHCI,

(D) CHCLCHCIL,

CH;CH,OH + HI -I-_I—0->CHgCHZI

+X +Sn

» Y ———> CH,CH,0H, X is

(A) NaHS
(B) NaNo,
(©) AgNO,
(D) AgNO,
BIMCS
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TAA-6 FTR T ST @ -
(A) STEEHT

(B) ufsfr v

(C) FRw

D) VERR

fra wger® % THol ° Tt AW ¥ B

|y

(A) g
B) A
©) fo=s
(D) A=A

TS T S THH TAH S :
(A) TE&RT

(B) TomEH
e

‘\u_’ A b AV A

(D) wifeam

B QAW Tora & 7
(A) W

(B) =qZ-2-3m
(C) F=-3-3F
(D) =-1-3E

T, W IE N IO CH=CH¥

wwﬂaﬁffmmw%
(A) HCN
(B) HCI
(C) AsCl,

®) O,

CH,COOH

CH= WTWW%

(A) CH,=CHCI

(B) CH,CH(OOCCH,),
(C) CH,CHO

(D) CH,CH,CHO

BIMCS

29.

K)

32.

33.

(C,Hs), Pb Tl ST & :
(A) NS SOH

(B) 4TS SORE

©) Fors

(D) &

firer — zm?aﬁrﬁaﬁqlﬂuﬁmm
Hiferer T & 2
(A) Mn

(B) Co .
(C) Fe

(D) Pt

mqﬁna&aﬁa&wmmt:

FAY DD
) &y &y "r'*lQ"i AT

(B) &
©€) &=

AT EA-J
{(U) e

A (sﬁaﬁaas) A #
Lol
(A) CH,ONa

(C) CH,Mgl

©) W

B AP T ?
(A) ccCl,

(B) CCl,=CHCI

(C) CHCL,

(D) CHCIL,CHCI,

CH,CH,OH + HI ——s CHCHL

+X g 50 » CH,CH,0H, X ¥ :

+HCI
(A) NaHS
(B) NaNO,
(C) AgNO,
(D) AgNO,
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37.

X + Br, — CH,CH,Br + a gas + a salt.
Wi

(A) CH,CH,0H
(B) CH,COONa
(C) CH,CH,SH |
()] f‘l-l CH. rngna

o4

Which is hygroscopic, sweet in taste and.

non-poisonous ?

(A) CH,OH

(B) CH,OH - CHOH - CH,0H
(C) CH.OCH,

it R

(D) CH,CH,0H

This is added to ether to test its purity ;
(A) C,H,ONa
(B) KI
() KC! |
CH3 Cco \
® ey, 00/°

This is oxidized to prepare methyl ethyl
ketone :

(A) 2-Propanol

(B) 1-butanol

(C) 2-butanol

(D) t-butyl alcohol

This does not convert a ketone to an
alcohol :

(A) Zn|Hg +HC!
®) Ni
(©) LiAH,

(D) NalHg + H,0

10

41. I
.. (A) Propan-2-one

42,

The number of isomeric aldehydes for

Which is a mixed ketone ?

(B) Butan-2-one

"(C) Pentan-3-one

ATy AT o
) INOme

This does not react with Fehling’s

golution *

DA AR LAIAL

(A) CH,CHO
() (CH,),CO
(C) HCHO

(D) HCOOH

This does not
condensation :

(A) HCHO

(B) CH,CHO

(C) CH,COCH,
(D) CH,CH,CH,CHO

undergo aldol

Acrolein is
(A) Ketone
(B) Aldehyde
(C) Polymer
(D) Protein -

FeSO, + H,0, is called
(A) Fehling’s solution
(B) Benedict’s solution
(C) Schiff’s reagent
(D) Fenton’s reagent -

BIMCS
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37.

39.

f*“r- — CH.CF —Rr-!-ﬂﬂa‘ﬂ!’!é-ﬂﬁ:'m
ainiaey) b et/ >

Xt: _

(A) CH,CH,OH

(B) CH,COONa

© CH3CHZSH

(D) CH,CH,COOAg

B ST, 9w oy SRy

(A) CH,OH .

(B) CH,OH - CHOH - CH,0H

(C) CH,OCH,

(D) CH,;CH,0H

9 e e @t sffeet #
foras & w9 o wam e ST 2

(A) C,H;OC,H;

(B) C,H,OH

(©) CHNH,

D) ccly,

| %&Wﬁwi&rﬁmm’rm

=t It ¥ 2
(A) C,H;ONa

.(B) KI

(C) KCI

CH,CO\
©) CH, co/

maﬁaﬂwﬂﬂﬁﬁqﬁa%m
L0k
(A) 2-WRr

B) 15

(C) 2-=ge

(D) -2 Tehige

TE TF WA P TH Teprer Rt

Tt e

(A) Zn|Hg +HCI

(B) Ni
(C) LiAMH,

(D) NalHg+H,0

BIMCS

Al

42.

43.

CiH, 0 & f & dom & goege
wrerre ama ¥

) 2

®) 3

© 5

D) 4

aﬂﬂmqﬁ?ﬁ&aqﬂm%?
(A) WOF-2-3 '
®) FF-2-3

N Ve 2w
\\’, B Dl b b | B ;

(D) wr§ ot .

7 i foeram & W T e R
(A) CH,CHO |
(B) (CH,),CO

(C) HCHO
(D) HCOOH

(A) HCHO
(B) CH,CHO

(C) CH4COCH,

(D) CH,CH,CH,CHO"

THiet &
(A) ®RH
(B) uivsERE

©) =g
(p)u’te&a

FeSO, + H,0,, el &
(A) efem e

‘(B) wAfewe faera |

(€) T st
(D) ﬁnqaﬁwh;
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49.

-

(\‘,‘.- x

w2
T,

X and Y are respectively

(A) CH,CH,NH,, CH,COCI
(B) CH,CONH,, CH,CH,C!
(C) CH,COOH, CH,CONH,

CH,CN The compﬁunds

~ (D) CH,CONH,, CH,COOH

Dry distillation
produces
(A) CH,COOH

(8) CH,CHO

(C) (CH,),CO
(D) CH,COOCH,

Electrolysis of a concentrated aqueous

solution of a compound gave C,H, on
anode. The compound is

(A) CH,COOK

(B) CH,CH,COOK

(C) CH,COOC,H;

(D) CH3OCH;

210°C

'IhepmductofCO+Na0H-—>is -

10 atm
(A) €O,

‘(B) CH,COONa

(C) HCOONa
(D) CH,

-

The compound insoluble in acetic acid is

FANY M

A} Cal

(B) CaCO,

' 00
© 7% \ca

coo/
(D) Ca(OH),

12

51.

52,

53.

55.

57.

© 15

Alkaline hydrolysis of an ester is called
(A) Neutralization
(B) Esterification

~ (C) Polymerization

(D) Saponification

What is biuret 2,

(A) CH,CONH,CH,
(B) NH,CONHCONH,
(C) NH,CONH,
(D) NH,0H

What is grape-sugar ?
(A) Starch

(B) Glucose

(C) Fructose

(D) Sucrose

How many Stereoisomers glucose has ?
(A) 10 - ® 13

® 6

What is

the bond between

 monosaccharides in starch ?

(A) Glycosidic
(B) Peptide

(C) Phosphodiester
(D) Ester

Glucose reacts with
(A) Schiff’s reagent

~(B) Phenyl hydrazine

() NaHSO,

(D) Br,+H,0

Which one is an aldoketose ?
(A) Fructose '
(B) Glucose

(C) Maltose

(D) Starch . -

BIMCS
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-46. CH3CN

EL A

(A) CH,CH,NH,, CH,COC!
(B) CH3C0NH\2, CH,CH,CI
(C) CH,COOH, CH,CONH,
(D) CH,CONH,, CH,COOH

A X @ Y

47. (CH;C00),Ca F T FAEa W SR
FTME

(A) CH,COOH

(B) CH,CHO .

(C) (CH,),CO

(D) CH,COOCH,

48. uw A F U e faeE % R

I W TS W CH i 1 A &
(A) CH,COOK

(B) CH,CH,COOK
(©) CHyC00CHy
(D) CH;OCH,4

49. CO +Na on&mm%
10 atm

@A) co,
(B) CH,COONa
(C) HCOONa

(D) CH, '

50. wﬁﬁmqﬁ%ﬁmﬁqﬁw

(4) Ca0

(B) CaCO,
COO \Ca
coo/
(D) Ca(OH),

BIMCS
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52.

54.

S§S.

56.

57,

=7 o Se. JaeT Feea

T &7
AR LU LR |

(A) ST

 (B) TRAERW

(C). SgeHIBIT
(D) T

ART T ?

(A) CH,CONH,CH,
(B) NH,CONHCONH,
(C) NH,CONH,
(D) NH,OH

TSI T 8 2 '
(A) = A
B) TFE

(©) "N

(D) o

_ﬁﬁﬂ%ﬁmﬁﬁhﬂmﬁi‘?

A) 10
(B) 13
© 15

D) 6

mﬁmﬁm%mwﬁm
2

(A) Wﬂﬁ%

(B) =S

(C) BITHISRURR

(D) W&

Wzﬂ%mf&%mm%{_ _

(A) P sfds
" (B) i ETEsSte

(C) NaHSO,
(D) Br,+H,0

P TH IR ¢ ?
(A) RN

(B) B
(C) weRw

(D) =&



59.

61.

62.

The formula of Vitamin ‘C’ is

(A) CgH ;04N

(B) CgHgOg
© CHNO,
(D) CoHgN,O4

This is not water soluble vitamin :
(A) D

®) C

© B,

(D) Folicacid

The deficiency of this vitamin makes it .

difficult to see in dim light :

(A) A

(B) B
G C

D) D

This - vitamin is less available to
vegetarians :

a) A

(B) By,

©) B,

® C

In the benzene sulphonation, the actlve
specie is

(A) HSO,

(®B) SO,

@) SOy

Benzene has

(A) 3 delocalized electrons
(B) . 4 delocalized electrons
(C) 6 delocalized electrons
(D) 12 delocalized electrons

14

This is a meta dtrectmg group in mono-

substituted benzene d uu.uug substitution

‘reactions

.. (A) -C=N -

67.

(B) -NH
(C) -OH
D) -0

An  organic compound contains
C =40%, H = 6.66% and rest is oxygen._
The empirical formula of the compound
is

(A) CH,0

(B) CHO
(©) CH,0,

T SmTT

(D) CH,0H

Paper chromatography has following
II..IUUIIC daiu

respectively :

(A) liquid, solid

(B) solid, liquid

(C) gas, liquid

(D) liquid, liquid

stationary

In Lassaigne’s test, the following reagent
is used for testing the presence of both
N&S:

(A) AgNO, -
(B) FeCl,
(©) Na,8

CH, COO \
© C[-13C00/Pb

For a second order reaction

1
k=7

two reactants A and B are
(A) [A]l=[B]

(B) [A]>[B]

(©) [Al<I[B]

(D) In all cases

al :_ ) if the concentrations of

B1IMCS



59.

61.

ffim Ccwm@y

(A) CgH;,04N
(B) CgHgOq
(©) CgHsNO,
D) CygH;gN;0g

Wﬂﬂﬁﬁlﬁﬂﬁ!ﬁﬁﬂﬁ%:
(A) D '
B) C

(©) B,

(D) wifers 37T

| w P o ey F e
 HEAHIAY

A) A
(®) B
©) C
D) D

;zﬁa&mmﬁﬁaﬁmwwﬁm

@A) A
®) By,
© B,

®) C

i & Wi o e Wit ¥
(A) HSO,
®) SO,
(©) SO,
D) SO

et i &

(A) 3 Rrenfrer W
B) 4 e @R
(©) 6 frenfm @R
(D) 12 frete PR

BIMCS

67.

afufiean & S Aer it wE d
(A) -C=N

) "NHz

(C) -OH
D) -

TF HEre A #§ C = 40%,
H = 6.66% 3R ¥ 0 ¥ | Afw &
AR G ¥
(A) CH,0
(B) CHO

© CH,0,

l’ r'n CH OH
““3“

i [

Wmﬁm@waﬂﬂaﬂﬁ)ﬁnﬁwﬁ

mzmﬁ"m's-

A fervment e €
(A) %3, 39
(B) 34, 3d
© 5=
D) =&, 59

o wﬂmﬁ fip s N @ik S SRt
F e F s @A

(A) AgNO,
B) FeCl,

(C) Na,S

CH, COO\
@) CH, coo/Pb

w&ﬁnﬁ&aﬁﬁm&afmhl.
IR A 3K B QH SRS H

a(a -x)°
qEa e

(A) [Al=I[B]
(B) [A]>[B]

- (O) [Al<[B]

(D) w+t aRferfrt &
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71.

72.

73.

100 ml H,O and 50 ml ether were mixed -

with Succinic acid. At equilibrium, ether
phase had 0.127 g and H,O phase had

- 1.843 g Succinic acid. The distribution
constant of Succinic acid between water-

ether
(A) 7.25
(B) 14.50
(© 3.62
D) 10

The Van’t Hoff factor of benzoic acid
solution in benzene is 0.5. In this
solution, benzoic acid

(A) Dissociates

(B) Forms dimer

(C) Remains unchanged

(D) Forms tetramer

pH+pOHisequal to
N

B) 7

) 14

®) 10

In DNA, the complementary base pairs
are

(A) Aand T,Gand C
(B) Gand A, TandC
(C) AandT,Gand U
(D) UandA,Cand G

Atwhattemperatureareacﬁoﬂwi]]beat
equilibrium at 1 atm if AH and AS are

30.58 kJ and 66.1 JK1 respectively ?
These values do not change with

temperature in any significant fashion. -

(A) 4202K
(B) 462.6K
©) 429K

D) 642K

16

74.

75.

76.

78.

10 g hydrogen is ‘reacted with 64 g

oxygen. The amount of water formed

- will be (in moles)

A 3
B) 4
© 1
® 2

In Frcuhdlich adsorption isotherm, the

value of 1s between

(A) Oand1
(B) 0and0.1
(C) 2and4
(D) 1and 10

Dettol is a mixture of -
(A) Terpineol and bithional

(B) Chloroxylenol and bithional

(C) Chloroxylenol and terpineol
(D) Phenol & iodine

What is not produced within human
body ?

(A) Vitamin

(B) Hormone

(C) Enzyme

(D) DNA

Which one is an anti-histamine ?
(A). Chloramphenicol
(B) Diphenylhydramine
(C) Norothindrone
(D) Omeprazole
Waxes are
(A) Hydrocarbons
(B) Esters
(C) Amines
(D) Fatty acids
BIMCS



70.

71.

T

73.

100 O it 50 m! tur & ghmbes
ik C i bW IS U A R T

maﬂﬁfmf&mwumwiﬂt
W WA #0127 g AR H0 B WA #

1.843 g ufrafe s 9RN T | SEAR

¥ W WP st w1 R o &
(A). 725 -
B) 14.50

(©) 3.62

D) 10

PG PGV S So——
T 0.5 ¥ | 7 faeram |, dieE S

(A) Rafmaad
®) Remwmrt |
(C) e @y |
(D) HErwFTt |

pH + pOH TR ¥

A o

- ® 7

©) 14
D) 10

DNA ¥ [t e g &
(A) ASRT,G3RC
B) G3RA, TARC
(€©) A3RT,GaRU
®) UaA,C3RG

wmﬁmﬁmmwmw
aft 2 T 1 atm ¥ 3 AH 3 AS F W

#A: 30.58 kJ M 66.1 JK1 ¥ | g Om
mthtﬂmmﬂmmﬁ

e i

(A) 4202K
(B) 462.6K
(©) 429K
D) 642K

BIMCS
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75.

76.

78.

- 79.

10 g TESSH 64 T st % T
rfufiran #% e STer SRR (SieT #) 2
A) 3 "

B) 4

© 1

®) 2

rrafirer st e o £ a1 o
dadamd:

(A) 031

(B) 03R0.1

(C) 23R4

D) 13R10

et we fsgor & T
(B) aﬁﬂaﬂﬁﬁasﬂtm
(C) TR AR ffeier
(D) Tt AR e

TFE TR e SR T wa
A) Trahm |

- (B) ¥H

(€) T
(D) DNA

B U gt ¥ 7
(A) FACTHFEHIET

(B) TRRFERREHIA
(©) AR

(D) sifmrier

wE

'(A) TEGIBR

(B) WX
(©) wim

(D) W A



81.

85.

‘Which one is a set of isoelectronic

species ?

(A) N,, CO,, CN-
(B) N, H,S,CO
(C) N,, CO,CN-
(D) Ca,Mg,C!

The solution of this compound will show

‘maximum ionic conductivity :

(A) K,[Fe(CN)g]
(B)  [CoNH,)6ICL

N la i\ i AN s))
(L) [Lutinngjy iy

(D) MNI(CO),1

Which one is paramagnetic ?
[at. no. Cr = 24, Fe =26]
(A) [Cr(CO)6]

MMalmmn

(M
) e vu-v)sj

©) Fe(CN)g*
(D) [Cr(NH,)g**

Which is paramagnetic ?
Ay CL0 .

®) Clo,

© CLO,

®) CLOg

If saturated solution of Ba(OH), has pH

of 12,its K, is
(A) 4x105Mm3
®B) 4x107M3
(C) 5x10°5M3

D) 5x1077 M3

Pure water can be obtained from sea
waterby =

(A) Centrifugation

(B) Plasmolysis

(C) Reverse Osmosis

(D) Sedimentation

. 18

86.

Standard electrode potential is :
Fe?*/Fe, E° = - 0.44, Fe**/Fe?*, E° =0.77

If Fe*, Fe’* and Fe blocks are kept
together, it will lead to

(A) increase in Fe>*
DG3+ '

A Aanvancs 1e;

} \WDI.UGW].I
Fe2+

(©) e remains.unchanged

(D) Fe?t decreases

Which will have highest number of -
isomers ?

(A) [Co(NH,),CL,]
~ (B) [Ni(C,0,),(en),}™

(©) [Ni(en)(NH;) 1+
(D) [CH(SCN),(NHy),I*

The rate 32 for reaction 3A — 2B is

dt
equal to
et

© 3%
®) +2—f--l

Which one has p, —d, bond ?
(A) NO;

(B) SO

(C) Boj'
D) co;2

Serpeck’s process is used for bauxite

which hag followine main imnuritv -
VREARW/LA ZERALY AWSAANS Y 'm& J-l-l-ll-'u-l.x.n: L3

(A) Si0,
(B) Fe,0,

(C) Fe;0,

(D) Ca0
BIMC5



81.

‘82.

B W WG T 1 ¢ ?
(A) N,, CO,, CN- :
(B) N,H,S,CO
(C) N,,CO,CN"
(D) Ca,Mg, Cl

W s @ foormm afvwan smate
e R

(A) K [Fe(CN)g]

(B) [Co(NH;)6ICl,

(€) [Cu(NH,),ICi,

(D) [Ni(CO),]

T QA P SFTEHA & 7
[9RH] 97 Cr = 24, Fe =26]
(8) [Cx(CO)y]

(B) [Fe(CO)s]

(©) [Fe(CN)gl*~

(D) [Cr(NHy)*

. PR STEREE 7

(A) CLO.
(B) CIO,
(©) CLO,
(D) CL04

3R Ba(OH), % Wqwi forer # pH = 12
%,Fh';ﬂﬂ?l{spmrm.%:

(A) 4x109M3

(B) 4x1077M3

(©) 5x100M3

(D) 5x1077 M3

D g T T S =
™ g

ﬂ
Ahe 1 S Y It A M gl il

T E

(A) IR
(B) weHIETERIR
(©€) Raw swfam
(D) deR=vm

BIMCS
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89.

S

S, V. VI - W—
A FO9CIS O9a 6 ¢

Fe2*/Fe, E° = - 0.44, Fe>*/Fe?*, E° = 0.77
Iy Fe?*, Fe3"3=ﬁTFe$Fﬁ$Uﬁ?mT@
T T

(A) Fe3+ a3 |

(B) Fedtwam |
Fe2+ ' -
©) Fea+mﬁaﬁam%|

® Fe2+aém |

Preior % Bt St g -.-.-.m-.n-ﬁ.}
M1 " 1 --n \7“"‘17\"1 “"ll"ﬂ"‘"" orl i

(A) [CoNH,),Cl,]

(B) INI(C,0,),(en),I"2

(€) [Ni(en)(NH,),J%* -

") [C(SCN),(NHy),J*

3A — 2B aﬁ&ma&w—(—lm%

w34

_24(A)
B) 374

© 350

3 dt
d(a)
D) 2=5

ﬁwﬁpn-dﬂw??

 (A) NOj;

®) so;”
© BO;
D) CO;

nﬁm%ﬁrwm&-sﬁmﬁmﬁwﬁ

. aﬁ%ﬁqﬁﬁwm aﬁ;&if

(A) SiO,
(B) Fe,0,

(©) Fey0,

(D) Ca0



91,

9.

93.

GV

- ©

An ideal solutlon is fom:ed when its

components : _
(A) upon mixing show no change in
volume.

(B) upon mixing show no change in

enthalpy.

(C) upon mixing show neither change
in volume nor enthalpy.
(D) show high solubility. -

Which one of the following -’have
same Van’t Hoff factor as that of
K,[Fe(CN)¢]1?

(A) ALy (SO,

(B) NaCi

(C) AINO,),

(D) Na,SO,

How many kg of O, will be required for
complete combustion of 2.8 kg of
ethylene ?

(A) 2.8

(B) 64

(©) 96

D) 96

The number of moles of Kl\![nO4 needed
to react w1th 1 mole of SOZ" in acidic

solution is

B)

= o thlds

®) 3/5

Acetylene has following bonds between
the Carbon atoms :

A) lo,2n '

B) 3o

©) 3=n

D) 20, 1n

- 96.

100.

At CMC, surfactant molecules :
(A) Hydrolyse

(B) Dissociate

(©) Associate

(D) l')lgnnlvg completely

=7 Lol g =

For the reaction CO(g) + Cly(g) ==
COCly(g), Kp/K. is equal to

(A) VRT

" ®) RT

© g7

my 1
) i

The conjugate base of OH™ is
(A o

-(B) O

© HO
@) O,

The precipitate of CaF, (K, = 1.7 10719)
is obtained when equal volumes of the
following are mixed :

(A) 107'MCa?* + 107*MF
B) 102M Ca?* + 10 3MF~
(©) 10°M Ca?* + 1003MF-
(D) 103M Ca?* + 10°M F~

‘Washing Soda is
(A) Na,CO, - TH,0

() Na,CO; - 10H,0
(C) Na,CO;-3H,0

(D) NayCO,

BIMCS



({TW Wﬂ‘l“‘ltﬁl’l'ﬂ“l H Qﬂﬂi Heoh

(A) ﬁmﬁwmﬂ#ﬁﬂﬁiqﬁaﬂﬂﬁ
g | '

®) frem W el § i e @
e |

(C) frem W e iR et o B
i et e |

T (D) e e B IR FA E

92.

93.

9s.

Pra % 3 fomm a6 4w
K, [Fe(CN) ] ¥R 8 ?

(A) AL(SOy,
(B) NaCl
(©) AI(NOy),

(D) Na,SO,

2.8 P Qe % ot TET % e fet

~ fem 0, Ft saema At 2

(A) 28
(B) 6.4
©) 9.6
D) %6

SO % T Wit & W e w0 F

flw KMno, ¥ fet dw wfiw aR
vt srefg e Ao

A)

B)

©
D) 3/5

- L Ll

qﬂﬁ?ﬂ#ﬁmﬁqmﬁﬂ?aﬁﬁw
T ¥

(A) lo,2n

(B) 30

©) 3n |
D) 20,in

BIMCS
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(174
FOe

W S Sp—
I TH 6 W TR Y]

(A) s

@B) fgfma st e € |

(C) Wgfma @ s ¥ |

(D) quia: goreiter & ST & |

AT CO(g) + Cly(g) w==2 COCl,(g)
% RIT Kp/K o TR & T :

(A) \RT
(B) RT

1
© rT
D) 1.0

NLT- =T T »

OIS
I |ma “1“'" Tl T

(A) O

®) o
© HO

®) 0,

CaF, (K, = 1.7 x 10710) &1 sma et
ma&ﬁntmﬁmwm

o

100.

(A) Na,CO,-

(A) 10-M Ca2* + 10-*M F-
(B) 1072M Ca?* + 10°M F~
(C) 107M Ca?* + 10°3MF
(D) 103MCa?* + 10°MF~

T |ieT ¥

' 7H,0
10H,0
3H,0

(B) Na,CO,-
(C) Na,CO, -
(D) Na,CO,

D Wga
¢ ay e



Roll No., Examination Centre and its Code and Test Booklet No. should be written on the Part-I of the Answer
Sheet in Computerised format. The Digits should be written in topmost boxes in Blue / Black ball point pen and the
circles corresponding to the digits be blackened with Blue / Black ball point pen only.

ST & YL & Pt e T e T/ T 3w s/ e-gRe @ de o B S-w W
T dETET § an e mer Tar s el f:l:ﬁ--.ﬂnﬁﬁu; zﬁrnﬂﬁ'ﬂn‘lﬂuﬁxﬁ'

ey v viiewr T ork o
"[I"‘"‘Fp\ Tt ’"“l"“l Ay Ba Y l TN Y MIAN EITI T VTR O|MIIVE NS TTAVTTT OMTA TV 7 TIAIVIE NI T TN VI TR Ta Tonve "l'!

fhﬁrﬁv&fmwﬁu‘lauﬁah#qil

Example : If Roll No. is 179682 and the Question Booklet No. is 14390, then

wEW: 00 aRdA W 1796828000 w whe-gferent At 14390 &,
[7]o[s[8[2] Ti4]39]0
QI0|0|0|0]0| P|0|0|0|®
O|IOIO|®|®|0] ®|10|0]|0|®
POO|I0|0|®|0] 10]10|®0|@|O
ICHOIOM O IO O] ®O|le|G|O|6
OHOIEGI J[C)[O] P|Ie|G|®|®
Qle|0|0|0|0 1O|0|0|0|0
1©100,0,9|® |00 |6|®
o] [0l o} [o][O] lolfoXoll 2o}
olo|e|e|e]|o| olojo|o|e

(C) Process for Filling up OMR Answer-Sheet (Fo-aws ars-II 't vt ot wbean)

1.

. The questions are multiple choice type. Each question is provided with a number of choices of Answers, out of

which ONLY ONE is MOST APPROPRIATE. The candidate must blacken the appropriate circle provided in front
of the question number, using Blue / Black Ball Point Pen only. If a candidate uses the pencil for darkening the
circles on the answer-sheet his/her answer-sheet will be rejected.

sree - T ¥ | ke e 3 o el T P vt o ¥ vt e e s & 1 e o e
T & waifees ST faed & AP & St Mot Bt et / et der amie 3 /@ e ka9 sefitar
Tt =t e | e ¥ A SE SH-TF W W wW A IR

Example: If correct answer for question no. 7 is the choice ‘B’, then darken the circle in front of question no. 7 as

. shown below :

FERW AR w7 % for freew ‘B’ W SR, a’rmmvﬁmtmmuﬂ%ﬂmﬁﬂﬂm |

2.

Tk

QNel @O O®
QN2 @O O @

N’ @@ O®
(a) The;ircles,asdescribedinc-labove,are.tobedarkenedbyusingBlmelackMPointPenonly.
(@) IR T C-1 3 TR T STER S B Ao/ weh e T G o |
(b) The shading should be dark and should completely fill the circle.
(@) T B QIET F W/ T T F e |

Continued on the next page.
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3.

.h

r.n\ mltr Mn mirnla Anrracnandina to Hnn Anmnf answer alu“ 1" kn f‘n‘l'r“ﬂll no ahassre halaser o
ARV WAL WAY WULLWOPACLINLILE, W n\.u, 'KCNCa as SO0WI OC1OW |

(1) e R e et T Tk o e e e A e T

Comect /T DG O © |
Incorect /T QP @PO o« OPOO « OFOO ~- O®OO
ot/ @ @O * OOPOO * OORO « OO
(d) The candidates must fully satisfy themselves ahout the accuracy of the answer béfore darkening the
- -appropriate circle using Blue/Black ball points pen as no change in answer once marked is allowed. Use of

erasér or white / correction fluid on the answer-sheet is not pemusmhle as the answer-sheets are: machine
gradable and it may lead to ‘wrong evaluation.

()R it =t el / et et e e /TR @ vee mﬁw‘{&mﬁhﬁmwﬁﬁr&m%m
sifien et it Bt 1 R §, e it O o i et e e ¥ | STeTE O e @ e
W‘m#ﬁaﬁaﬁWﬁ'ﬁﬁﬁ&'ﬁhmﬂﬂmmwﬁﬁmqﬁﬁmﬁmwm

(c) . Ilf*mmethanoneclrclcmdarkénedusingBlue!Blackballpointpenorifﬂleresponseis marked in any other
« ~tnaninér or as shown in “Incorrect method” above, it shall be treated as wrong way of marking.

(%) ﬂﬁ‘wﬂaﬁwﬁﬁﬁ%!mﬁﬁawwﬂwwﬂmwwﬁﬁrmmﬂmwﬁm&n&
- T ardret & v Rear s At 39 et s R e

Ronghmrk must not be done on the OMR answer-sheet. Free space pm\nded in the question booklet should only

""beused'fottlnspurpose

- Pl e T S I TR WA S mqﬁmqﬂamﬁm%ﬁwwﬁmmﬁwwt SRR F=
CHH W |

- “BarCedé” printed on the Answer Sheet must not be tampered or in any way marked; otherwise the candidature
~will berejected.

m@wﬂts&‘mwwwmmmﬁm?mmwwm?ﬁwﬁm#ﬁgﬁﬁim
el e srleart Tgg @ & s |

.- Candidatt-must not leave any mark of identification on any part of the Answer Sheet except Part-I of the OMR
- Answet Sheet as this may lead to disqualification.

mmimé-l%aﬁﬁaﬁww?ﬁﬁmmwwmwﬁwﬁqmﬁwasﬁmwmﬁ#

ﬁ’m‘dﬁﬂﬂtmﬁﬂﬂﬁﬁ%‘l

;. 'Foﬂcnﬁéatmn of your handwriting, it is necessary to write the prescribed Text completely which is printed on the

* back s:d’d‘o‘f the Part-I of OMR answer-sheet and also put your sxgnaun'e on specified space in Hindi & English
otherwise your answer-sheet / candidature will be rejected.

AR, I T -1 & J 7 Sifeeer maier  Frdemgar et gwafafy  gof w1 & et s g s
T o ot F Frefter e we a1 ety siter 3 ferg g aifvart & 1 # R W S SeR-O / SRRt
Ty R e R

In cagel yon do not follow the instructions as given on the backside of OMR answer-sheet, your answer-shaet is

- liakfle @ be'rejected for which you yourself will be fully responsible.
| S S %mm*wmﬁﬁﬂﬁﬁ&ﬁwwqﬂhﬁmmmwﬁmmm

'-tmmmwa@ﬁmﬁﬁﬁ I
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